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ASSAMESE

( Modern Indian Language )

FuIl Marks : 6A

Time : 2r/z }rolurs

lhe frgures in tltc margin irtdieate futl marks

for the questions

) r u[Bw{fr{l: )xt=q

F) q{nF .trffiF${ wl 6iFFr €ffie- RRqr

(q) Sil 5arya vtQq 2

(ur) 6q|qfts1 \flfrs <Cs qfi-{lq 6qw€K Ffut
.ffiqanfr{t 1

(q) Tfr qT{, +FIK sr ffFt uls ?qRE r

(s) q'rfr "rftql\ sR tR o"q cfl{'lTta rR-r

Tqr srs

(u) .-{m fr q6tu3' <Ifu-'tR'{l< lu-s crFI t

(q) 'cqltlff' qrrqroft'{dr gclsl {Feftr-s c$Fl ?
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e. I u1b-s<fr{l: \x8=v

(n) €6q' q1-E 'sqqyql' 1R gr+< il-s csn ?

(*r) frqflE ffrze fr 3Fr r

(q) cqffi c{tq?

(s) qffiRr<Trfi${ 
1<a oRsr-f<< {N fran r .

,? r ffiRs sxqTqq 0E{ frlT (R con+ ffibt) . 6xg=)r

(e) 'fr{-ftFsm qnq R wR-qr<<
qTR-$ tfE rR cstcfl :1-6tr1q r"

CFrc- TR-sTi-l cqqn "nbrfqr csl-drh sR-rrrr

't:II qql lqEqz FRepTrR-"IR ft Tq{ s<l{
trafi r$-cq' qraqlD;il s-$ |

(=r) c{sFrq{K 'xrqQ' sffi< DT qrflD-{ s-{r I

(q) ffi eq+trrs sffi{ 'ryqffi'sffi s6e-r

ft{ flT<ffs ql$frftr qq\e- pq;lT nReqr

'|Iq{ii(l co'd< ft qTfl I--{q fr-q-{ c1bs

T|{Kq ? t{K {lr{ n-fr cfl;i ?

(q) \tE-{cKFt <-<fis 'cgq6q $q-E1ogft'" 6qffiq K}K

l:{rEF ?<q, aqffi{ sTRAr wvr<v u1t+
fritt r

(31

8 I ffiRtg srs{q< 0-s{ fr"{ (fr me-qr Gfiil) : )oxe-eo

(+) tcqq sffi{ 'crm cq{' Tffi{ \rcq.e=r

9f$Tfiq lfqxlcgT' q-"f46 q;.-q'il p-u' I

(.t) 'Re^A' nMtg qTql {s<r{ qiflfr vq&e<
frffieq, u$+fr"+r r

(q) '-Kq <"(il' aN-{ sffi sB< vqq er+rq

sffiq sRe{ fr fr Gqm q<awq TRcq,

$rcEIFq'I4-4f I

(s) 6firr' sffi{ qtcq-c< c<rqTFrs sR-sT<

EsfiI3 frqe{ sffito fqeq., bqr$qrq
qrrEID-{l s3i I

(s) qrr{fu qqfr{T sR-sK sffi< Rr.l{-sq{q
qra$D-{l T-{I I

(u) qqfi-"-{ bEFrEm{q ft ft, En<<qqq rTts
qfiffffi $if I
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